ngﬂ Lgﬂ‘,s heorem

Thw: TF G is o gqrovp Fhen it is isomerphic o a subgroup of  Sg.
PF:VjeG define % :G=G by 'rJ(h\=J\\.
Claim: 'rJeSG. v/
Pf. of claim:
*injective
Tf hyh,€G and 'Yj(h.)='r3(hv.) then 3\\,:3&\, = K= h, .
* surjecbive
Suppose k€G, leb k= j-‘\c. Then 7 (h)= gh=g(g"k) = k.
Thecefore, Ty is o bijeetion fom G to G. @
Now define $:6—=Sc by $(g)=ty. Then:
* ¢ is a homomorphism: v~
Vj\/ jzc-;G/ VheG/
g9 =13 () (def of ¢)
= (g0 (def. of nrm,)
= §r{geh)
e )00 (defs of Ty, and 1y,
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¢ s '\(\:}e.c\-‘\\(e,: v

—Sj‘a\usf.ﬁﬁﬂ,e_cH_é(ﬂ.)=¢(a.).
\ 9e

Then e = v, == = e) = .
Jv Jt

etin = ¢( [ 1 ism.

Thecefoce Gz ¢(6). @
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